

ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 ARLINGTON, VIRGINIA 22201

NOTICE OF RENEWAL

TO: JOANNA INC. DBA GATE LOGIC SECURITY ORIGINAL DATE ISSUED: DECEMBER 17, 2021

8124 FLANNERY COURT CONTRACT NO: 22-DES-R-539

MANASSAS, VIRGINIA 20109 CONTRACT TITLE: AUTOMATIC GATES MAINTENANCE

AND REPAIR

THIS IS A NOTICE OF RENEWAL AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. **22-DES-R-539** including any attachments or amendments thereto.

EFFECTIVE DATE: 12/17/2022 **EXPIRES**: 11/31/2023

RENEWALS: THREE (3) ONE-YEAR RENEWALS REMAINING

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: SHANNA GRAY	VENDOR TEL. NO.:	(703) 763-4283		
EMAIL ADDRESS: SHANNA@GATELOGICSECURITY.COM				
COUNTY CONTACT: Gabriel Ortiz Rodriguez	COUNTY TEL. NO.:	(703) 228-6838		
COUNTY CONTACT EMAIL: gortiz@arlingtonva.us				
CONTRACT AUTHORIZATION				
THE COUNTY BOARD OF ARLINGTON	JOANNA INC. DBA GATE LOGIC SECURITY			
COUNTY, VIRGINIA				
PRINT: DR. SHARON T. LEWIS	PRINT:			
DocuSigned by:	Doo	suSigned by:		
SIGNATURE: 1/r, Sharon, Lewis 89886B1AD301462	SIGNATURE: SW	MNA 6/ay		
TITLE: PURCHASING AGENT	TITLE: President			
10/17/2022	10/17/2022			
DATE:	DATE:			

Notice of Award IFB2000003220 Page 2

PRICING SCHEDULE

# Item	Quantity	Hourly	Total
	Required	Rate	Cost

PART 1 - Labor Rates: Testing, Preventive Maintenance, Parts and Repair Services

#1-1	Lead Gate Technician - Regular Time (Monday-Friday 7am to 5pm)	1	\$ 165.00	\$ 165.00
#1-2	Helper Gate Technician - Regular Time (Monday-Friday 7am to 5pm)	1	\$ 125.00	\$ 125.00
#1-3	Lead Gate Technician - Overtime Time (Monday-Friday 5pm to 7am, weekends & holidays)	1	\$ 295.00	\$ 295.00
#1-4	Helper Gate Technician - Overtime Time (Monday-Friday 5pm to 7am, weekends & holidays)	1	\$ 165.00	\$ 165.00

PART 2 - Preventative Maintenance

#	Item	Zon e	Address	Gate Specifications	Manufacturer	PM Frequency per year	Annual Price	Total Cost
#0-1	Adult Detention Center (ADC)	3	10520 Judicial Dr Fairfax VA 22030	4 Sets of Hydraulic	Sally Port Gates	4	\$ 905.00	\$ 3,620.00
#0-2	Jennings Judicial Courthouse	3	4110 Chain Bridge Rd. Fairfax VA 22030	2 Hy-Security slider gates with one operator each	Hy-security	4	\$ 470.00	\$ 1,880.00
#0-3	Jennings Judicial Courthouse	3	4110 Chain Bridge Rd. Fairfax VA 22030	2 G-2000 Wedge Barrier M50 P1	Barrier	4	\$ 1,195.00	\$ 4,780.00
#0-4	McConnell Public Safety & Transportati on MPSTOC	4	4890 Alliance Dr. Fairfax VA 22030	2 Sets of Bi- Fold	Wallace Gates	4	\$ 460.00	\$ 1,840.00

#0-5	McLean Government Center	5	1437 Balls Hill Rd. McLean VA 22101	2 Sets of Bi- Fold	Wallace Gates	4	\$ 460.00	\$ 1,840.00
#0-6	Public Safety Headquarter s (PSHQ)	6	12099 Government Center Parkway Fairfax VA 22035	2 Bi-Fold	Wallace Gates.	4	\$ 460.00	\$ 1,840.00
#0-7	Public Safety Headquarter s (PSHQ)	6	12099 Government Center Parkway Fairfax VA 22035	2 Large Barrier Arms	Barrier	4	\$ 377.50	\$ 1,510.00
#0-8	Mt. Vernon District Government Center	8	2511 Parkers Lane, Alexandria VA 22306	2 Slide Drive Gates with 1 operator each	Hy-security	4	\$ 377.50	\$ 1,510.00
#0-9	Franconia District Government Center	9	6121 Franconia Rd Alexandria VA 22310	2 Hy-Security Slide Drive Gates with one operator each	Hy-security	4	\$ 460.00	\$ 1,840.00
#0-10	Mason District Government Center	9	6507 Columbia Pike, Annandale VA 22003	2 sets of slider gates 4 operators	Lift Master	4	\$ 625.00	\$ 2,500.00
#0-11	Pine Ridge Police	9	3911 Woodburn Rd Annandale VA 22003	1 slider gate with 1 operator	Lift Master	4	\$ 295.00	\$ 1,180.00
#0-12	West Springfield Police and Fire	9	6104 Rolling Rd, Springfield VA 22152	2 slider gates with 1 operator each. One set of slide gates with 2 operators	Lift Master	4	\$ 460.00	\$ 1,840.00
#0-13	Newington Garage	9	6900 Newington Rd, Lorton VA 22079	1 slider gate with 1 operator	Lift Master	2	\$ 295.00	\$ 590.00
#0-14	Fairfax Animal Shelter	10	4500 West Ox Rd, Fairfax VA 22030	1 Set of Bi- Fold	Wallace Gates	4	\$ 336.25	\$ 1,345.00
#0-15	Fair Oaks Police and Fire	10	12300 Lee Jackson Memorial Hwy	3 Sets of Bi- Fold	Wallace Gates	4	\$ 501.25	\$ 2,005.00

#0-16	Old Pistol Range	10	5625 Revercomb Ct. Fairfax VA 22030	1 slider gate with 1 operator	Lift Master	2	\$ 295.00	\$ 590.00
#0-17	Sully Gov Center / Police Station	10	4900 Stonecroft Blvd, Chantilly VA 20151	1 Chain Drive lift master, Set of swing gates with Hy- Security Swing Operators	Hy-security	4	\$ 501.25	\$ 2,005.00
#0-18	Police Rifle Range	11	3725 Stonecroft Blvd Chantilly VA 20151	1 set of sliding gates with 2 operators	Hy-security	4	\$ 295.00	\$ 1,180.00
#0-19	Police Driving Track	11	3725 Stonecroft Blvd Chantilly VA 20151	1 set of sliding gates with 2 operators	Lift Master	4	\$ 295.00	\$ 1,180.00
#0-20	North County Government Center and Police Station	11	1801 Cameron Glen Dr Reston VA 20190	4 Sets of Bi- Fold	Wallace Gates	4	\$ 652.00	\$ 2,608.00
#0-21	Criminal Justice Academy	11	14601 Lee Rd Chantilly VA 20151	2 Sets of Bi- Fold	Wallace Gates	4	\$ 377.50	\$ 1,510.00